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QUESTION 1

How many drive bays does a DS4246 shelf have? 

A. 42 

B. 12 

C. 46 

D. 24 

Correct Answer: D Section: (none)

Reference: https://www.insight.com/en_US/shop/product/DS4246074812AQSR6/NETAPP/DS4246-074812A-QS-
R6/NetAppStorageShelfDS4246-Storageenclosure-24bays(SAS-2)-HDD4TBx12-rack-mountable4U/ 

 

QUESTION 2

For testing purposes, your customer decides to use FC on a single-node ONTAP cluster. There is only one host that the
customer expects to use. High availability is not a concern for this test. The customer connects the host directly to the
ONTAP node. The LUN is set up, and the igroup is configured. When the customer tries to attach to the LUN from the
host, the LUN is not seen by the host. 

Which statement is correct in this scenario? 

A. Multipathing must be used and connected to another FC path. 

B. NPV must be enabled on the host before trying to attach to the LUN. 

C. NPIV must be enabled on the host before trying to attach to the LUN. 

D. An FC switch must be used with ONTAP. 

Correct Answer: B Section: (none) 

 

QUESTION 3

A customer has reported an unexplained reboot of an ONTAP node that did not generate a panic string or a core file. 

In this scenario, which two sets of logs do you collect to further diagnosis the issue? (Choose two.) 

A. system core 

B. sp status 

C. events all 

D. sp status -d 

Correct Answer: AC Section: (none) 
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QUESTION 4

You observe cyclic redundancy check (CRC) errors on a network port from a node in the cluster. 

Which two components would you consider reseating or replacing before you perform actions on the physical port
where the errors are reported from the node? (Choose two.) 

A. SFP 

B. cluster interconnect switch 

C. up-stream switch 

D. cable 

Correct Answer: CD Section: (none) 

 

QUESTION 5

What are two reasons to use HTTPS as the transport method for AutoSupport delivery for Active IQ? (Choose two.) 

A. Only HTTPS transfers are compressed. 

B. AutoSupport OnDemand (AOD) is supported. 

C. HTTPS is encrypted. 

D. HTTPS does not use a standard port. 

Correct Answer: BC Section: (none) 

Reference: https://www.netapp.com/media/10438-tr-4444.pdf 
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